(3-35 _ MMealhoeds Bl Eferlye

|z =2eKpa_ Po,730Km Pi, = Sokea

| PsortPoat ':,Ehl..j e .
fw-l-:loo o '

Pl & W —\

————

i Pea "Tf: R o;;:O-lew:O_.S—"f(":d‘rw>

b =Yoo= M= leaaMeeat YeaMlost Yo My, =
gl — s = 0.2 Wol B +0.3 39, 4.5 27.085Fem

Gl =55z o V2| §iod + 15 947+ 14.0006S
. w10 ]/—‘&‘M =32, §o% l%@lm“%no\nvmrs

_iMe et = ST donqe !
LA O %s~“~ ot S I

nél ;.__'.—-——-“ o 31\ v
‘T/—__'

ﬁﬁ—‘gwéw ,.‘7.5‘655%’\4! |
5 — o ’_O‘ L
S — A, =0 %7 M2 S |

@ ok J

vz 06575 Cn =2 MG <\

Y —o0. Lty Cun =272+ 0.65725%)+ (0.24¢ ass:%\«b@.'m o.ﬂ%

C vgg= 0. 71352 =0.1787 +gl94¢ 1033217
Cvn=p, €1

Cpon = O.FH 6%;‘ Cpn=2 nli*lep: ,

Eonn ~0.4\¥5F  (m _ (0272094625 H0.29:- 04, ;:)*(5.4224.0342;)

Coup =), O3M5F  =0.2%| +0.27175 + 0Mi§s5

Com= 095069 Bk

}




— (13-21 | |
JPNSAREC, SR FlﬂJ f;) : (‘
,_,r__ﬁﬁsi/ aral Qe W*‘pga'\/n = ‘RMTM
e, Mthheat,

‘S/Nkﬁ_‘.’_‘ﬂ 0. (s—y’wh*f CAQI\("3&’° YPM
63/ rele é(a((/cnvbo ?5 L . SLJ‘QV-O omsh3
: Mr"\%g:-—le-aq3éa;\ | dia k‘o K?ﬁ
My = 2% 4255 T.= Wt
MM":h.‘]:‘!!L.;z Z;_uq Moy

095984752 + 015" 16.oY3 5L,

15 hrekes = 28V
—1H.62455,; 1+ 2. Y065 Vg__?_f’_—:gﬁm 2o

—

Mn-» 27.03\ ¥ A0 it o a0l
o VE 755

i \IﬂrTv 2487

M6 = s ~;':::O.<IH£ {

EL —=og¥E=—=0 084 _
MFcung:jﬁl?ia"_—ﬁo}\ "OLOPT _C
Ru ﬂb?l”*@%u— Ritgaen o m

@m 0307&52_




U.»J;\’n(p(;,;jﬁ [;(:," ('_.',.“, deate
| P N

A

O ~

PVEMRT
Cotor = 1235Y 55r
C\/Ar = 0‘3\11 v »

X P
Pue =
p X -

Y Yo
qlVA_, ‘

T 20

MM % o.lf3 gl
2 Ag ¢4 :
qul{ré MM :4(1.1""’. F/r:

09555k

X Ree=35275
P‘*’" \./Vf . le M T

\ookpa » 0A5e® =0 4nasEE, - 243K M

4")m - Ov3717 ; :

DL > bl - TTg—— SIEE
- RAY — 3q»‘14« %of et y A 3 3
ParVar =Mae>Rax T o

200K par 0572 M+ ©.2081352,» 323°K

] [ '53‘11%'::*4,” L

[T P Y AS Qovt l,/mo"'_ 3 = A0 {N;ﬁ'c":‘ AT

‘ —19"*' =(v\ﬁ!i\mt ‘cm’w L8 MﬂAr vy - (T ‘T")_ ; -
-\S =O.3729r1:l\73$'i?r('f1 —2337K) 4 (. 339k - 0.322%5(To - 3

-5 =,0645T, —324,594
| 204.5¢4 =13 =568 °K
lLo6HS 4 2
{""V/-,’)'MM'RH 'Tn

O = . 71203 0352555 290.69°[

Ra

\
*I*"h[

Mie
0372%

- RY

-

- ealar

- Mk

Mn

0.qn°

P =134.6 Kpo)

_Ma= 0030637

NEk=imoany 2. 2\77
MEpy = \=0fe =0, 29722

l :’32,5(25&

enel

— o s
Rn= " -O,lSQQH‘k

“




TR e —_—
<\l%ﬁ “Find Wk § flet Lronsfer
onpressien of rikuve  Pin= ool po _Pout=I00oFRe

AESRES

9 iwvea s C
Gese S\ efhent  Propent, bolalit Tia=20"C

[i70 Heoaly Yeuevshle, Sjeady €low
e o L b

ey
ey =06 ME3i3 =025 (Afeuiin = T
¥ 4(,:]\”\/ :QM 0I7. \,L(%?—jm;mr' - V/W‘i5 F«p; Y- =
‘ MM :-M?:MFIQW _‘ﬂﬂquA *—“:gu——%' A
Mo Mesm Meumo o o
L — b ST
sy g v S YRAE =B, /A =% ¢

col3im  Mod7zEy Sty

17 e =3 7gseRe

JQ_A‘_' 21406

— [W=0.371552 243K |a (——r—m
W= 25¢.06 7 : £

; —1,.:_;“ L)

4
V4

aewt ,
ot i~ =P seomi]
B L e

] Qeu*:w:f\ \

| ¥ = 256.067 53
L -




